H & 0l & AHS B Ml A

0248 =0il& LEHSIH Zaks At
FA: 2atsatt
M 25 2ES
Cel: 23 E+FHI EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ZotF At 17,363,872 19,748,978 A2,385,106
= 2,227,794
Jl 350,000
= 2,490,987
Al 12,295,091
oM 2EFY 5,652,081 6,456,777 A\804,69%6
= 1,667,794
= 1,622,627
Al 2,361,660
Z3 M 23l 3,069,616 3,655,500 A\585,884
= 1,067,010
= 987,513
Al 1,015,093
2DVNE 2 L SESSHH E3H(52s 7 & 30,568 180,000 A149,432
s 22 &)
401 Al HIZ S OHbI 30,568 180,000 A149,432
01 Al&H| 30,568 180,000 149,432
OZNNYLEH 2 SE2EH 24T(
SAS P U= 2= EH) 30,568
2VNE 2 & SSE2SHM EFHI(ZIIE 3H 60,000 600,000 540,000
HSHH)
401 Al HIZL 201 60,000 600,000 A540,000
01 Al&HI 60,000 600,000 540,000
O=MNE23M L SSE23H 2+FHI(
ZI1d A MSHF) 60,000
2VNE 2 & SE2SHM EFHI(ZIIA ==K 22,723 180,000 A167,277
HOHA)
401 AIEHIZ SR THYI 22,723 180,000 A167,277
01 Al&HI 22,723 180,000 A167,277
O=IINE 2 % SS23M 2+FHI(
ZI1E =R JHe) 22,723
2DVINE 2 L SESSHH B+FHI(HF80n 20H 50,000 50,000 0
Ol
= 25,000
< 12,500
Al 12,500
401 Al HIZL 201 50,000 50,000 0
= 25,000
== 12,500
Al 12,500
01 Al&HI 50,000 50,000 0
O=IINE 2 % SS23HM 2+=FHI(
M8 EDHOILH 50,000
= 25,000
s 12,500
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FA: 2atsatt
M 25 2ES
Cel: 23 E+FHI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 70,000
=S 15,000
Al 15,000
308 AtXIEMSOIE 100,000 0 100,000
= 70,000
= 15,000
Al 15,000
183 S| 2SO ZB&HAEAIE 100,000 0 100,000
O=IINE 2 % SS23M Z2=FHI(
SHE 234 get o) 100,000
= 70,000
= 15,000
Al 15,000
ZoH M XAIE =X2el X 50,000 50,000 0
= 35,000
= 4,500
Al 10,500
201 fer23| 50,000 50,000 0
= 35,000
= 4,500
Al 10,500
2 s5=4g4l 50,000 50,000 0
OZ3tM MZXIAIE X2l X2 50,000
= 35,000
< 4,500
Al 10,500
ZSHH QL e EH| 425 6.740 26,315
401 Al HIZ 2018 425 4,340 23,915
01 Al&H| 425 4,340 A3,915
OeHHE M= &XI 425
HSAME SMHAIAE RAE% 93,400 69,160 24,240
= 46,700
= 23,350
Al 23,350
201 Ler=23 | 93,400 69,160 24,240
= 46,700
< 23,350
Al 23,350
2 352484l 93,400 69,160 24,240
OHSAIE SMHAIAE RAE= 93,400
= 46,700
< 23,350
Al 23,350




FA: 2atsatt
Hu: 250 2ESY
Cel: 23 E+FHI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEAE STHAIAE 2=(EHEAL 140,000 0 140,000
= 70,000
== 35,000
Al 35,000
402 212 X201 & 140,000 0 140,000
= 70,000
=S 35,000
Al 35,000
02 RIINEASEZ(0IETHR) 140,000 0 140,000
ONSAZE HTHAIAE 2=(HGIA 140,000
= 70,000
= 35,000
Al 35,000
HEAE 2FBI(S12A 200,000 0 200,000
= 100,000
= 50,000
Al 50,000
402 2IZtA=01d 200,000 0 200,000
= 100,000
= 50,000
Al 50,000
02 QI X2 AL EE(0IHTHE) 200,000 0 200,000
OTSAHE EFHI(S1AH 200,000
= 100,000
< 50,000
Al 50,000
CXE 23 EFHI(AZA SIODIEHOZHRY R 20,821 165,000 A144,179
A RISE+3AH
401 AIEHIX R0 20,821 165,000 A144,179
01 AlZH| 20,821 165,000 A144,179
OZXNE 23t 2=FHI(&8B AL SZ010]
EtOIch e QARH XISE2=ZAH) 20,821
T2 MHHXAE 25 130,000 105,000 25,000
< 60,000
Al 70,000
401 Al HIZL 201 130,000 105,000 25,000
= 60,000
Al 70,000
01 Al&H| 130,000 105,000 25,000
O=SE2=2t MHLXAE 25 130,000
= 60,000
Al 70,000
ZotRi 288 50,000 50,000 0




FA: 2atsatt
Hu: 250 2ESY
&elr 23 2==F4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
O=2zt74t 282 50,000
EXNE Sa220 M MHZAAE FA2c 10,560 0 10,560
= 3,168
Al 7,392
401 AlZHIZ SO 10,560 0 10,560
== 3,168
Al 7,392
01 Al&HI 10,560 0 10,560
Q2248 =XE SAZ5HH MHSXIAIL
=Al2el 10,560
< 3,168
Al 7,392
HEAE LTHAIAE RE(MLDA 16,750 0 16,750
402 I2FX=01 & 16,750 0 16,750
02 QI X2 AL E R (01X THE) 15,750 0 15,750
ONSAE HTHAIAE 2=(MH DA 15,750
HEMNE HOYAIE X (EAS 25,000 0 25,000
402 2I2FXH=201H 25,000 0 25,000
02 I SASEZ(0IETHR) 25,000 0 25,000
ONESAIE HYAIE XA (EAY) 25,000
CXE 23 E+FU(FHU XS HHME+=3AH) 7,100 0 7,100
401 AlZHIZ S0 7,100 0 7,100
01 Al&H| 7,100 0 7,100
O=XNE 23t 2ZHI(F&U XIS oAl
Sa=3AH 7,100
CXE 2 E+FHl(de2E FE 884X % 82 67,773 0 67,773
HEZIHEALY)
401 Al HIZ R 0HbI 67,773 0 67,773
01 AlZ8| 67,773 0 67,773
OZXE 23t 2=FH|(Hetzd FE g
X L S}EBANLAIY) 67,773
EXE 23 EFHI(MIA LEHE X288 & = 1,196 0 1,196
¥ =SZH 3AH
401 AlEHIZ 2018 1,196 0 1,196
01 Al&H| 1,196 0 1,196
OZXE 23t 2=FHI(MI2AF LB X
S+ & FH == 3Ah) 1,19%
CEXE 23 E2FUI(MIDAF QAHH 01F) 80,000 0 80,000
== 80,000
402 QI2F X201 & 80,000 0 80,000
= 80,000
02 QI THZ2AILEE (01X THE) 80,000 0 80,000




FA: 2atsatt
M 25 2ES
Cel: 23 E+FHI EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OEXE 23 E+=FHI(M2DAL QA 0]
=) 80,000
= 80,000
CXE 23 2+FHI(E DA QAL 2+=FH]) 114,000 0 114,000
= 114,000
402 2I2F X201 & 114,000 0 114,000
== 114,000
02 QI X2 AL EE(0IETHE) 114,000 0 114,000
O=XE 23t E+FHI(F DA QA £
=ZHl) 114,000
= 114,000
=XE 23 224 462,000 0 462,000
= 231,000
Al 231,000
401 AIZHIX S0HH 462,000 0 462,000
S 231,000
Al 231,000
01 A28l 462,000 0 462,000
CXE 23N 234 462,000
== 231,000
Al 231,000
detdd HSHESAL AHEEH 295,000 0 295,000
= 147,500
Al 147,500
401 Al HIZ S 0HbI 295,000 0 295,000
= 147,500
Al 147,500
01 A28l 295,000 0 295,000
OdctEd HdSHESAL AHMEN 295,000
=S 147,500
Al 147,500
o B & &8 2,582,465 2,801,277 A218,812
= 600,784
=S 635,114
Al 1,346,567
ZIIH HEAIAE X2t 23,568 23,568 0
201 et 3| 23,568 23,568
02 s3=gbl 23,568 23,568
OZJIE HEAIAE FX2te 23,568
2™ 222 WA 27,000 30,000 23,000
201 er23| 27,000 30,000 23,000
01 At2tltl 27,000 30,000 /3,000
OZJId g2 M& 27,000




FA: 2ateit
. 25l 2ESA
H°el: 23 2 € 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=3t AlZ2tel 165,900 167,400 21,500
101 @124H| 40,100 40,100 0
M ORNZZE2NSE S 40,100 40,100 0
O=3M Ald2el(HsHY) 40,100
201 er2 3| 113,500 115,000 1,500
01 AtR2te|HI 13,500 15,000 21,500
O=a M Ald2te| 13,500
02 s3=gHl 100,000 100,000 0
O23H Ald2te| 100,000
203 FR=4| 2,300 2,300
03 A=A R =NH] 2,300 2,300
O=22H Ald2te] 2,300
206 MH=Hl 10,000 10,000
01 MZH| 10,000 10,000
O=a M Ald2e| 10,000
SN HHBHIR A & 2= 505,397 550,233 N44,836
= 202,284
= 60,684
Al 242,429
101 @124H| 505,397 550,233 N44,836
= 202,284
== 60,684
Al 242,429
M OIRIMZZE2NSE S 505,397 550,233 N44,836
O=22H et HHIE B 505,397
= 202,284
[ 60,684
Al 242,429
2RMLH(2st7 A 2t 11,000 11,000 0
201 Ler23 | 11,000 11,000
01 At2teltl 11,000 11,000
O=FHeH2aRLH) 2l 11,000
ESRAEE 2SAE 57,000 57,000 0
307 @120l & 57,000 57,000
02 QI BHANEEX 57,000 57,000
OXFgw MEod ¥ 222Y 25,000
OXIAZZEHUE 3,500
OME3 MUZZH 2,500
Od=FIIB=0l SEAY 9,000
OFZE 0|3 el 2,500
OoxzdR, FJId UM S 10,000
O2NS23MAZ0I &5 3,000




SH: 23R40
ME: 2o 2ESY
o 23 2S 2 2E EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| o130F4 satsosy J1g 1,500
IF ADI BTGt HSEH 18,000 18,000
307 2I2t01 & 18,000 18,000
04 QIZFSHAIALE 2 25 18,000 18,000
OFF NI BHGE HSEH 18,000
dx= A 2otHl 18,000 18,000 0
307 212t01 & 18,000 18,000
04 QIZFHAIAFE 2 X 18,000 18,000
O&F= A3Z 23HAl 18,000
===t 22X 25,000 25,000 0
= 25,000
101 21AH| 24,200 25,000 A800
= 24,200
MU OIRINZZENSES 24,200 25,000 A800
O=R2s 2ol 24,200
= 24,200
201 Zet=d] 800 0 800
= 800
01 Ar2teltl 800 0 800
O="=3M 2cIX& 800
= 800
S22} SE22B 23 24,000 21,976 2,024
= 12,000
Al 12,000
101 ©1AH| 24,000 21,976 2,024
& 12,000
Al 12,000
M IItHZZ2NSEs 24,000 21,976 2,024
O=E}N S22t 29 24,000
== 12,000
Al 12,000
HIAB 2= HE (S EHIAEXH) 26,000 66,000 40,000
308 AXIHS0IA 26,000 66,000 40,000
07 MR SHHIRE = 26,000 66,000 40,000
OHHZDEEEH Nl 26,000
Nl &AL 10,000 10,000 0
& 3,000
Al 7,000
307 lztol & 10,000 10,000 0
& 3,000
Al 7,000
02 LB HAHE X 10,000 10,000 0




SN 2BRMD
M. 23N BE=RE
tel: 23 25 2 28 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXNHMUM =& 10,000
& 3,000
Al 7,000
gt 2estn 29 9,100 9,100 0
T 2,730
Al 6,370
307 2Iz2+0l™ 9,100 9,100 0
T 2,730
Al 6,370
02 QIZHBAAIEER 9,100 9,100 0
Ogu 2R 29 9,100
= 2,730
Al 6,370
ANEHEZIITAIZTH (R4 B2 L EE)(HEHAL 850,000 850,000 0
o)
T 425,000
Al 425,000
307 2I2+01™ 850,000 850,000 0
& 425,000
Al 425,000
02 QB AAIEER 850,000 850,000 0
O B L 28 850,000
= 425,000
Al 425,000
ZoHIHOokH At 435,000 680,000 A245,000
= 174,000
= 78,300
Al 182,700
307 2I2+01 A 435,000 680,000 A245,000
= 174,000
& 78,300
Al 182,700
02 QIZHBAAIEER 435,000 680,000 245,000
OZ3IAHOFH At 435,000
= 174,000
T 78,300
Al 182,700
MMZSTH AL 50,000 50,000 0
= 20,000
T 9,000
Al 21,000
307 2I2+01™ 50,000 50,000 0
= 20,000
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44,000
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MEE
Ofl &k2h

50,000

130,000

130,000

130,000

84,000

84,000

84,000

ol &rey

9,000
21,000
50,000
50,000

20,000

iy

Al

i

9,000
21,000
135,000
54,000
24,300
56,700
135,000
54,000
24,300
56,700
135,000
135,000
54,000
24,300
56,700
90,000
45,000
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Al
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13,500
31,500
90,000
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Al
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90,000
45,000

Al
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SN 2BRMD
M 2o BEESH
o 23 2S 2 2E EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 22,000
=S 6,600
Al 15,400
2ZDA Y AZAE HH(EXEHSZE) 58,500 0 58,500
= 58,500
307 gl2to| & 58,500 0 58,500
= 58,500
02 2IZHBHAIHE £ 58,500 0 58,500
OZZIA 9 2AZHE HL(LXESZ) 58,500
= 58,500
AMESIEZAl =4 5,267,201 7,407,461 A2,140,260
= 510,000
< 853,360
Al 3,903,841
2ot 52 2 |4 5,044,201 7,399,461 N2,355,260
= 510,000
== 853,360
Al 3,680,841
Olei=at Z2XE 38,000 20,000 18,000
201 =3 18,000 20,000 22,000
01 At22telt] 18,000 20,000 22,000
OllcHFat Z2HME 18,000
401 Al HIZ 2018 20,000 20,000
01 Al&H| 20,000 20,000
Od == HEHI? FBIAY 20,000
FEI dAIE O XI3AAE 53,095 53,05
402 2I2FX=01& 53,055 53,055
02 QI XHE AL E R (01X THE) 53,085 53,055
OFEEZ3M HAIE HE XIZALE 53,055
R0 Es018=2 23 283,181 284,021 AB4O
101 e124d| 169,740 169,740 0
M ORINZZ2NSE S 169,740 169,740 0
OXFIE=0Id=2 2Y 169,740
201 Ler23| 113,441 114,281 AB40
01 At2teltl 7,560 8,400 N840
OdFINE=018-2 28 7,560
02 S3=gHl 61,794 61,794 0
OXFINZ=018 =2 2 61,794
03 A2 I 44,087 44,087 0
OXFIF=01ds2t 2F 44,087
derdy 2gad 143,944 50,000 93,944
101 @124H| 95,944 0 95,944
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2A: 24
HE: GASITAl E4
&t ez =8 2 54 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 100,000
Al 300,000
HSSEIXET Y923 JI8AE 7,500 7,500
308 AHXIHMSOIH 7,500 7,500
07 X SH2RES 7,500 7,500
OX=EELGINXE AYE2S J|IE ALY 7,500
SUH 2SR 2E S=XA 400,000 500,000 A 100,000
& 200,000
Al 200,000
401 Al HILS0HY| 400,000 500,000 100,000
= 200,000
Al 200,000
01 AlEHI 400,000 500,000 A100,000
(OFSEE===EIN; 400,000
& 200,000
Al 200,000
SUH AAL 7 S=0z & BS 66,000 80,000 214,000
T 20,000
Al 46,000
307 2I2+01™ 66,000 80,000 214,000
& 20,000
Al 46,000
02 QIZHBAAIEER 66,000 80,000 214,000
OF A At 7Y S=lig & 88 66,000
= 20,000
Al 46,000
&A= st=0ts HE2d Y 70,000 100,000 230,000
& 21,000
Al 49,000
307 212+01™ 70,000 100,000 230,000
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